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PHILOSOPHY gel-aURA
PAPER - III Jy-I1X
Note :This paper contains Seventy five (75) multiple-choice, assertion/reasoning/
matching questions. Each question carrying TWO (2) marks. Attempt All
~ the questions. _ '
A Bl UMD YWldR (9w) sgRsellu uadl, wd-vilg A Assl s da
8. M Usdsl ool @vdril 8. Uds Ul A () el B,

. . 9 . ~
1. Which Bhutadravyas are nitya 1. sy oda ML 9

(A) Akas_ha only ( A) S5 w530

(B) Maruta only
_ : (B) $5d Hi3d
(C) The Paramanus of Kshiti, Apa

: (C) &3q [&la, »0d, d% i H3d-
Teja and Maruta only

A

(D) Akasha and Paramanus of _
Kshiti, Apa, Teja and Maruta (D) &5d sl 21 AR, 2uM, ax
only el W3l WL
2. Recognise the Hetvabhasa in : 2. L DRERTRICTRNECTRRICTICTETRE T AT
The hill has fire because it is udd Uz B4 8, 51280 % dq el usy
knowable : e
(A) Viruddha S
(B) Badhita (B) eutaqt
(C) Asiddha © lue
D) Ul

(D) Savyabhichara

Philo.—HI 3 [P.T.O.1



The flow of Karmic particles towards
Jiva is called by Jainism :

(A) Nirjara

(B} Samvar

(C) Bandha

(D) Asrava

Which of the following is a Physical
Skandh according to Buddhism ?
(A} Rupa

(B) Vedana

(C) Samjna

(D) Samkara

Which of the following is not a kind
of extra-ordinary perception
according to the Nyaya
Philosophy ?

(A) Mapas Pratyaksa

(B) Samanyalaksana Pratyaksa

(C) Jnanalaksana Pratyaksa

(D) Yogaja

Philo.-I1

5.

slBts 50l 24 ds U - s
g 58 87

(A) (A%

(B) ¥ddaR

(C) ey

(D) Ra

13 2udanidl ollg el v olllas 269
g 87

(A) 3M

(B) de~il

(C) dsu

(D) AR

2y el A3 suemisll § 2ruare
el w1z ~tefl?

(A) et Mcddl

(B) AMIEH Rdt

(C) A UcHd

D)yl



According to the Nyaya-Vaisesika

Universals are :

(A) Imaginary and name only

(B) Objectively real

(C) Mental concepts only

(D) Unreal |

“God to be god, must rule the heart

and transform it” is the view of :

(A) Vivekananda

(B) M. Gandhi

(C) Sri Aurobindo

(D) None of the above

There is no individual consciousness

but only collective consciousness

implies :

(A) The world is separate from the
individual consciousness

(B) The world is inseparable from
the individual consciousness

(C) No harmony between the inner
and the outer world of
individual consciousness

(D) Collective consciousness is a

myth

Philo.-11II

6.

iy Al AR A veldi
Aeoldi 9 sdl asiy?

(A) a 350 s1eNRs 2 UM ©

(B) ardlas uu o
(C) s34 Hi-lds
(D) »adls &

“§oae $aaR otefln daL W
£9,5 d R4 UR WAL 53 241 AMi w[RadH
ala.” 21 R s 87

(A) [QasiHe

(B) it il

(C) sll xafde

D) GuR 2thaHid]l 2is wy 3

A3dod Adig 2ARdet «ell, wel §5q

AR Adrig Rdca & YRA 53 6,

3

(A) Yl ultand Ad-udl %& ©

(B) ule ailidoid Aa-edl s &

(C) Alsdad Adu-ll vdlis 2 otig
e qal wiray e

(D) uy8s Ad-u sieuls &
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10.

11.

Ahimsa should mean :

{A) Not involving in violence

(B) Staying away from violence

(C) Contributing to promotion of
non-violence

(D) Staying detached from violence

If “I” is given as false, then which

one of the following statements is

true ?

(A) A is false, E is true, O is true

(B) A is true, E is true, O is true

(C) A is true, E and O are
undetermined

(M) A is false, E and O are
undetermined

Which one of the following is the

contrapositive of “All men are

mortal’ ?

(A) All mortals are men

(B) Some men are mortal

(C) All non-mortals are non-men

(D) Some mortals are not men
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10.

11.

wdauly wdyed g ag AdH?

(A) [Ea -1 eidl

(B) [$adl g2 &g

(C) g vadl syaini didieq
ug

(D) (Sl »fEd 89

A D g 8, dl DA Adamizll, sy
Qaq Wy 87

(A) A Wi B, E v B, O u &
B) AW ¥, Eui®d, Oulo
(C) A w3 6, E 2w O B &

D) A g8, Eat O xRBd 8
“ud ugl Wsar B o st2uifRa
g 87?

(A) ud Y2l 1292 B

(B) 32clls HMi nxaR &

(C) ad »iizaz gl B

(D) %eetts 4R @dl Ml w4l



12.

13.

14.

The syllogism AEE-1 commits the
fallacy of :
{A) Exclusive premises
(B) IHlicit minor
(C) Illicit major
(D) Undistributed middle
According to traditional logie, the
number of valid moods in the fourth
figure of syllogism is :
(A} 3
(B) 4
(C) 5
(D) 6
(po>q . (r>s)
pvr
qvVv s
The above is an example of :
(A) Meodus ponens
(B) Modus tollens
(C) Constructive dilemma

(D) Hypothetical syllogism

Philo.—I11

12.

13.

14.

Ridizoa AEE-1 Hi st usil ddein

97

(A) wlieias ulast (vaua aisy)
(ssusqfia Ruskia)

B) Flg slia ve (Safe wud4z)

(C) Fle you ve (Slalfie A%2)

D) #uldag 1A ue (a-ERzeyes
[isa)

YR s dfaeliga , Rdiosidl aidl
siigla (2an Boni) vzl ysu-dl dval
sedl 7

(A) 3

(B) 4

(C) b

D) 6

poq.(r>s)
pPVvr
qvs
GuR wudl df A Gelern © ¢
(A) HSU Uiy
(B) sy e
(C) s~uglea sidam

(D) elSUdRsa Rdioow

[P.T.O.]



15.

16.

17.

In a valid categorical syllogism ‘O’
is the major premise only in the :
(A) First figure

(B) Second figure

(C) Third figure

(D) Fourth figure

Which one of the following is self-
contradictory ?

A) ~pvag=(~p.~q
B) ~pog=(~pva
Clpvig.-MN=[pvaqg.r]
(D} none of the above

Consider the following argument-

form in which p, q, r and s are
statement variables :
(p>q). (ros)

~qVv ~s

~pVv~s
Now which one of the following rules
of inference correctly represents the
argument form ?
(A) Disjunctive syllogism
(B) Destructive dilemma
(C) Constructive dilernma

(D) Hypothetical syllogism
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15.

16.

17.

qutd 32902 se Ridizpami ‘O I AR
WAL 87
(A) wsat Baaui
B) ollon Bozai
(C) ~lea [Fars
(D) Al BForzui
A sulamidl sy Qiaeul &?
A ~pvag=s(~p.~4q
(B) ~ (PDq)-E(- pvq
Cylpvig.nl=lpvqg.r
(D) Gu-uMl s wet ]
13 euldan das4i p, q, r A s, W22
Al o 6
(pD2q).(r>s)

~qVv~s

“pV~s
12 ealdal sai M Gy saufdal afq
Jod Ad 2y 53 97
(A) Bweq [Hailm
(B) [&z(324 siudHt

(C) su2l¥eq s

(D) eldviARsy Rebm



18.

19.

If A and B are true statements and

X and Y are false statements. Which

one of the following statements is

lrue :

A XoAD>Y

B X>X)oY

COOXoXoY)

D)AS(BOY)

Which one of the following

statements is {rue in respect of the

logical validity of an argument ?

(A) It is impossible that premises
are true, while the conclusion
1s also true

(B) It is impossible for the premises

to be true, while the conclusion

is false

(C) Itis impossible for the premises

to be false, while the conclusion

is false

(D) Itis impossible for the premises

to be false, while the conclusion

is true
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19.

A AL B WIS oA X 2 Y w2
8, dl A 2Aemisll § wy 87

A XDADY

B) XoX)oY
C)Xo>2X>Y)

D ASB->Y)

sl alfs wemddi Aeeld 13

Al 5y asy uy 87

(A) 2 2asd 9, 3 BudRa Wi sy,
uA (e ya Wil vy

(B) A sy 9, 3 VSR Wl i,
i Fu»ahi wigh sy

(C) w1 xusy 8, 3 VSR wiel iy,
e (s w2l ey

D) 2 2Ause 8, 3 ASRAY w2l siu,
w s w3l ey

(P.T.O.}



20, “oiin Kshurasya dhara nisita 90 w330 wiat Rl gred goli werd. .

durataya durgam pathasta ....... ) . _
@l Gulined dsy 8. Gulined s
is part of a very popular

Upanishadic quote. Name the xHo

Upanishad. (A) Suiulme

(A) Isopanishad By Wiube

(B) Kenopanishad _

(C) Bruhadaranyakopanishad ©) OL%RMNRME
(D) Kathopanishad D) seiulAue

21. Name the personality who was the 21. | witidll 56 oBa 8 %sL %Ll didw

editor of two different English news- R
wol WAL ol edt e

papers :
(A) Raja Ram Mohan Roy (A) A Wit AU
(B) Bhim Rao Ambedkar (B) ol 2a ¥dss2

(C) Mohandas Karamchand N ) )
(C) MisAel synds ol
Gandhi

(D) Lala Lajpat Rai (D) @lel dYdd 2™

-,

22. The concept of ‘Nirakara' is found  22. ‘sz’ -l Rigia sidl 87

m : (A) aeasiud

(A) Vallabhacharya

(B) [oustad
(B} Nimbarkacharya
{C) Madhvacharya (€) s
(D) Sankaracharya D) s

Philo.-HI 10



23.

24.

Brahman and Atman are :

(A) Two different substances

(B) One is a part and the other is
whole

(C) Not related at all

(D) One and the same reality

“Purnamada Purnamidam” is an

Upanishadic mantra refering to the

relationship between :

(A) Pournima and Amavasi

(B) Shrikrishna and Jarasandha

(C) Jivatma and Brahman

(D) Everything is Kshanik

Mahatma Gandhi understood

education as a process of :

(A) Aculturalisation

(B) Refining people

(C) Drawing out activity instead of
powering in

(D) Moving from darkness to light

Philo.—III
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26.

(A) A vt v &

(B) W5 »auq & i+ oflR s

(C) ol 424 sif o Asigy -2l

(D) ol As % AN B |
Gulmlzs %o, ‘‘yelue yolBey’’, suy
Aol [Quuni B? |
(A) YR 2 wu

(B) 3l B 2 WG

(C) U 3 Hsiet

(D) ud alus 8

Hatell A0 Mg Raw wu g
&7
(A) AestlRerd Rinn

Al astiaqdl ulBul

A3l wialls uldd une

oprtiqeitrl Sted Al ABA A sl

(B)
©

ad suaal W
(D) »iusdl usia as %q

[P.T.0.]



26.

27.

28.

The theory of Karma : 26.

(A) Vindicates moral freedom
(B) Is deterministic
(C) Eliminates moral responsibility

(D) Is incompatible with steriology

“Golden mean” is the theory of : 217.

(A) Socrates

(B) Plato

(C) Aristotle

(D) Epicurius

Hume rejects permanent substance 28,

saying that all ideas are derived

from :

(A) Intution

(B) Reason

(C) Sensation

(D) God

Philo.-II1 12

sl Rigid :

(A) AR adadd uxdq 53 &

(B) luldae 8

(©) ARs FUAELA oitsld AR B
(D) MlRaq @3zvae wa yadd
il e si-l Rgid 87

(A) A

(B) gl

(C) néey

(D) ARsyRuy

&M AR deall §Rasi Al 2R 52
&7

(A) ¥idgle

(B) «of

(C) Ade-u

D) S=ar



29. Match List I with List II and select

the correct answer by using codes

- given below the lists :

List I

{a) Mind and body are

finite substance

() Mind-body relation

is based on pre-

established harmony

{¢) Mind and body are

parallel attributes

of the same

substance

{d) Unperceived nothing

exists

Codes ;

(A)
(B)
(©)
D)

Philo.—III

(a)
(1)
(1)
4

(2)

()
(2
(2)
(3)
4)

(1}

(2)

(3)

(4)

(c)
3
4)
(2)

(3)

List I1

Berkley

Descartes

Spinoza

Leibnitz

(d)
C))
(3)
(1)
1)

13

29. 13 21l (codes) «il Guula s YA

(a)

(b)

{c)

(d)

I - 3R I el 4oy s Aad :

YR I
e oA Yl i

yeld 9

W, R, ARl dolg

YduiBra Ax-ay wR

!?lS :

2elRd &
Yo, u A1 s
Yelddl wnid aaw
&
U 515 ARt
4l

(@) ()
A Q1) @
® @O @
c @ @
D @ @

YR 11

1 el

(2) S5y

(3) 2l

(4) ALSolR»

© @
@ @
@ @
@ @
@

[P.T.O.]



30.

31.

32.

33.

“Knowledge is for not life for
knowledge.” The theory of truth is
propounded by :

(A) Correspondance theory of truth
(B) Pragmatic theory of truth
(C) Coherence theory of truth
(D) Absolulistic theory of truth
Who advocates ‘refined egoistic
hedonism’ ?

(A) Bentham

(B} Hume

(C) James Mill -

(D) Epicurus

Kant says that ‘Will’ originates
in :

(A) Emotion

(B) Knowing

(C) Reason

(D) Experience

To ‘properly comprehend the
Absolute, Aurobindo prescribes the
key. as :

(A) The logic of the infinite

(B) Sutradhara

(C) Knowing the ultimate

(D) Anubhava or direct knowing

Philo.-II1
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30.

31.

32.

33.

“siv, aniazl ©, wa- dadl 4l
Acsll 2l g2l siel 87

(A) siRuui-s= Ll 28 2u

(B) RaAls udl s gu

(C) sidluz-u a3l s 2u

(D) AeAieyRRes LUl 2wis 2y
[s19es JoidRes RsiAmm sl Rugia
&7

(A) A

(B) &M

(C) ¥ [P

(D) AAfsyRun

stretrtl HellgA12 Asey Aldd o Geaiaran

g 87

(A) awwell

(B) 2=t Wl ulza

(C) ale

(D) wq™d

el 243 (el varfuR, el Acun nest

st w-l Wl sul 97

(A) d-id-dl df
SrsS-use)

(B) yAalRl

(diws s 4

(C) uR¥™daA wqg

(D) tda g4l Wigeid



34. Maharishi Aurobindo envisages

35.

36.

transformation of human beings
into :

(A) Sanskaris

(B) True Bharatiyas

(C) Integrated Bharatiyas

(D) Gnostic beings

Which of the following is not
correctly matched ?

Emotivism

(A) Ayer

(B) Hare

Prescriptivism
(C) Mill Naturalism
(D) Bradley Subjectivism
The ultimate means to Moksha
according to Shankara is :

(A) Karma

(B) Jnana-Karma-Samuchchaya

(C) Jnana and Jnana only

(D) All of the above

Philo.-1I1
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34.

35.

36.

el w2(de dpani Jar WRad-d]
SENAL 537 ©7

(A) ARSI sg

(B) vl *dla

(C) Al eudly

(D) wuqlous Moy

2HL 59 s Wl ]?

(A) ¥R —  HdR»m
(B) 83 —  yandae
(C) Ma —  ugldae
D) aisdl —

Al3d{rnsale
AU Heltg MR HiAd et g &7?
(A) s

(B) su—s] Ay

(C) 2l vl F5d it

(D) GYR wddl wai

[P.T.O.]



37.

Among the following which one is
correct according to Ramanuja ?
(A) In essence jiva is the same as
Brahman

(B)

Pratyaksha 18 always

nirvikalpaka
(C) Prapatti is the royal road to

Moksha

(D) Brahman is the seat of Avidya
38. Match List I with List IT and choose
the correct answer from the codes
given below :
List 1 List 1I
(Author) {Text)
{(a) Gandhi (1} Rastriyata aur
Samajvada
(b) J.B. Kripalani {2) Gandhiji in

{(¢) Mahadev Desai (3)

(d) Narendra Dev (4)

Indian Villages
Politics of
Charakha
Ethical Religion
(Niti Dharma)

Codes :

@ ®& © @@
a @ @ @ @
B @ @ @ @
© @ @ @
D ©® @ @O @

Philo.—-1I1

37.

38.

(a)

(b}

{e)

(d)

5;15 :

atielley (1)

o ofl. [Hue-l (2)

UHE% AL HeuR, A wdandd] g
Wy 97

(A) 9~ HO AR WBiA B

(B) Mcust daal FMsey sy 8

(©) wudl Wig 42§ A odl sl §

(D) wetl QAU 8- 9

{3 20l siSelL (codes) il GuuioL 5317

AT Al 3l 11 uidl wldy s

Hudl :
yAa I

(duis)

STIE 4
sl
Al »iir
AHwALE
Afly S+
SSlud [adwx

Helza S (3) dfafesy 215
23ul

435 24 (4) »RAsa R{dwun
(IR «f)

@ B (@ (@)
@A) 1 @ @ @
B) @ G @& M
e @ & @ @
o B @ QO @@



39. Consider the Assertion (A) and

Reason (R) and mark the correct

option :

Assertion (A) : All cases of smoke

are cases of fire.

Reason (R) : Universal proposition

is really inferred from the universal

concommittance between smokeness

and fireness.

Codes :

(A) (A) is false, (R) is false and (R)
does not explain (A)

(B) (A) is false, (R) is true and (R)
does not explain (A)

(C) (A) is true, (R) is false and (R)
does not explain (A)

(D) (A) is true, (R) is true and (R)

correctly explains (A)

. ‘Samskarajanya Jnanam’ refers

to .

(A) Pratyaksha
(B) Anumana

(C) Viparyaya

(D) Srorti

Philo.-III
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39. wRal(A) #A 51239 (R) il sue0d ) dioy

Asew e s :

Qs (A) : %4l 2l usl iy, ol ofl

WL Sl 9.

5122 (R) : wdBis Qudd sgHid,

gHiSl WA 2oL a2l sRad

Mauale Avdni suw wy 9.

sls ¢

(A) (A) Wi B, (R) W 8, w1 (R) (A)
Al wenl Yl g

(B) (A) ¥ B, (R) WY 8 21 (R) (A)
Al il Al wiug

(C) (A) v B, (R) W8 ¢4 (R) (A)
A vl el g

D) (A) W B, R) g 8 211 (R) (A)

Al veudl 2 B

. ALY, AN vled

(A) MU
(B) wgn
(C) Ry

D) ¥yla
P.T.0.]



41.

42.

Who among the following said, “A

real object is mistaken as
another real object which exists
elsewhere.”

(A) Uddyotakara

(B) Gangesha

(C) Vishwanath

(D} Gautama

Which of the following is correct
about features of Prama ?

(A) Asandigdha and Ayathartha
(B) Sandigdha and Yathartha
(C) Asandigdha and Yathartha
D) Saﬁdigdha and Ayathartha
Which  of the following
characteristics of Moksa is not
accepted by Sankaracharya ?

(A) Moksa is avidya nivrutti

(B) Moksa is Brahmabhava

(C) Moksa is Nitya Asariratva

(D) Moksa is a necessary effect

Philo.-T1II
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41.

42,

43.

DAn(i su Rak 3@ &~ ‘A5 qidlas
g ojadll oo qralas avg dild
AL HUA 8, F vl s1is ol %
97

(A) Gelcs?

(B) oidigl

(C) [Ara-y

(D) llax

WAL RNl A sideuniol g wa B?
(A) wRiledy 2 sty

(B) leou »im yaud

(C) 2oy A g

(D) AU n vtuzud

A wuleuxisfl dsud Hiag 53 qaw
AR Yl 54ai?

(A) izt R Rydl 8

(B) “i& olsioud 8

(C) " ey 2uR3q &

(D) Mg silasus Wt 8



44. Which of the following schools  ,, i sy et o U Yoo adlsd
believes in Karma and rebirth

9, 2t suend P el disirg :
but not believe that the soul is

eternal ? (A) i
(A) Mimamsa (B) was
(B) Carvaka .

(C) lig ed
(C) Buddhism
(D) Vaisesika (D) dalus

45. According to Sankara, the locus of  45. sl HciguR Ml sui ad &7

Maya is : (A) lau-di
(A) Ignorance ‘
(B) [asqmi
(B) World
(C) astal
(C) Brahman
(D) Ego (D) »dsil

48. Which theory of error is accepted by 48, gpula dindl sul Rigia dlsid @7
ila ? _
Kumarila (A) @ud vlldale
(A) Asat Khyativada

(B) =421 wyildale
(B) Anyatha Khyativada

(C) Viparita Khyativada {0 AvRla valdas

(D) Akhyativada D) wladis
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47.

49.

According to Vaisesika the
relationship between substance and
quality are :

(A) Samyoga

(B) Samanaya

(C) Samyukta Samanaya

(D) Samyukta Samyoga

To think of something as desirable
and to think of something as
pleasure generating are one and the
same thing, Who says so ?

(A) Bentham

(B} Sigvik

(C) Mill

(D) Kant

According to Stevenson, ethical
judgements are :

(A) Factual statements

(B) Expression of attitude

(C) Commands

(D) Approval of consequence of an

act

Philo.-III
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47.

48.

49.

QAMs Mg ueld 2iA 9t 42 ;i
Avig 3ql B7?

(A) ddA

(B) vy

(C) AYsd A-ay

(D) Aysd ddLaL

518 argA Susal Yoy Wirdl w1 AR
QUELLs ], si7 D5 % Al S Sl
¥ 7

(A) d-ay

(B) [uxlas

© By

(D) Slwd

Redrarin g ARs ysel g 87
(A) adlds sl

(B) 2Rl wU®en3q

(C) g™

(D) sidni WAl gl



50.

51.

52.

Which of the following is a value

statement ?

(A} God exists

(B) Health is to be cared for

(C) - Use of Atomic bomb must be
banned

(D) Atom bombs kill many people

“Universals exist as archetypes in

the eternal world of ideas and serve

as models for the individuals which

actually exist in the world.” This

view is that of :

(A) Aristotle

(B) Plato

(C) Socrates

(D) Alexander

Which of the following is not- true

with regard to Aristotle’s view of

God ?

(A) God is the material cause of the
world

(B) God is the form of forms

(C) God is pure actuality

(D) God is prime mover

Philo.-II1
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50.

51.

52.

AU vuemicll sy jeuans sy 97
(A) 824 8

(B) areadl Aoy darll siy

(C) 219 olorrll Guula NG eldl AR

(D) »golol quu disiil Al v 8
QML qeL QlaRs Ayl adld ddid-
A4 yleui GulRud ¢l 8 A |
iclfas YReal 2dal el 12 seid3y
Sl 8.7 2L M Sl 87

(A) AR

(B) ‘el

(C) B

D) wasHist

ARzl S2az-i Hdsti [anuai gy
1? |

(A) S22 yled wiadl ska ©
(B) $%2 ud si-l sk &

(C) 923 Y¢ il 8

(D) 6z nan sdl & (udn yar)

(P.T.O0.]



53. Ontolog'ical argument is a creation

of :

(A) St. Anselm

(B) St. Augustine

(C) St. Acquinas

(D) St. George

. Which of the following is true
with reference to the doctrine of
Berkley ?

(A) Berkley uses Lockes basal

empiricism to establish idealism

and therefore he endorces .

maternalism and atheism
(B) Berkley makes use of basal
ampiricism of Locke to establish
idealism and thereby refutes
maternalism and atheism
(C) Mind has the capacity to frame
abstract ideas
(D) Existence of an object does not

depend or being perceived

Philo.-III
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53.

54.

2ii-2leiwse Y A2l Ul 59 87

(A) 2Aden

(B) tioRéln

(C) Asud-a

(D) i

sbelli Rugiani deolui § wy @7

(A) oddl SusRBufml 2uv-n s2q
M2, alisti 3o DA Rt uw
a8, ¥4 wReuy clilsae w4
URAsaE B

(B) il uslBultinm-d @uv-u s2al

W2, @lisei Yo AR R U

48, wi A 4, 4 elllsue A

AWRdsated visa 53 &

(€) Ml 0 R 2t s+l

w3 26ell B

D) SIS A Rt 2R, At Neud

Slal W A «dl



55.

56.

57.

Which of the following are prophetic ~ 55.

religions ?

(A) Jainism and Buddhism
(B) Christianity and Islam
{C) Sikhism and Islam

(D) Hinduism and Buddhism

Who among the following uphold  56.

‘Gram Swaraj’ ?

(A) Tagore

(B) Gandhi

(C) Vivekananda

(D) Radhakrishnan

Husser! has borrowed the concept |
of intentionality from the following
philosopher :

(A) Kant

(B) Hegel

(C) Brentano

(D) Descartes
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57.

il sl @l (ealn) 3—ualRd
wadl waudds 97

(A) % un ollg edd

(B) SuiS @l A Sreun

(C) B wf A Sren

D) Rg @l 2 g @l

02 2]l s uy éq%l%’ 4l NAlR
sy?

(A) 2R

(B) il

(C) fadsie

D) vl

gd s Ry WA Seera-ul@dl-l 3a
el B?

(A) sl

(B) &3y

(C) -2l

(D) $s1éH

[P.T.O.]



b8.

69.

Which following book is authored by
Husserl ?

(A) Lebenswelt

(B) Being and line

(C) Pragm#tism

(D) Phenomenology

Elementary proposition depict the
picture of reality is formulated
by :

(A) Moore

(B) Russell

(C) Wittgenstein

(D) Husserl

Who among the following denies
that perceptual experiences can be
expressed in words :

(A) Jayrashi Bhatta alone

(B) Dharmakirti alone

(C) Mahavira alone

(D) Dharmakirti and Vishwanath

Philo.-III
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58. flAnlq s§ yats gdad avg 87
(A) dAd-qes
(B) oll§a s erd
(C) WRRo
) i
59,
Raa 53 87
(A) 3R
(B) W4
(C) [Q2dlvra1n

D) gud

60.
B A Mg vise s s &7
(A) 50 wuARL o
(B) $sq w4l
(C) #s5d wudlR

(D) w{d w1 [@Qaqqd

Sl MegRuR walls R ardBag

HHAUAHA UL gl Asd 53T usiy



61.

62.

63.

When all the premises of an

argument are false we can validly

draw ?

(A) Only false conclusion

(B) Only true conclusion

{C) Sometimes true sometimes false
conclusion

(D) No conclusion

The universal proposition which

have the same subject and predicate

but which differ in quality are so

related that they are known as :

(A) Subaltern

(B) Contradictory

(C) Contrary

(D) Sub-contrary

(X) Fx is logically equivalent to :

A) ~ X) ~ FX

(B) ~ (X} Fx

(C) X ~ (FX)

D) ~ X) ~ FX

Philo.—II1
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61.

62.

63.

UL cibell o1l NS vzl sid, culd
qioy fAned g el uy?

(A) 85d wigl [Fesd

(B) &5 wi [Fosd

(C) 5135 vl 2 suis viel [?t?at{

D) 8 [Fgy AR

- ylRadd [Quidnl waFse w4 AGl%e

AL B, w ¥ ANl el §, duHi
Aoigd seaiu?
(A) Ao—vlice
(B) si-guEsedl
(C) sgd)
D) uo~si-z3
(X) Fx 4 alds wueudl g &?
(A) ~ (X) ~ FX
(B) ~ X) Fx
(C) X ~ (FX)
D) ~ X -~ FX
[P.T.O.]



64. Which of the following does not form

65.

a coherent group of ideas ?

{A) necessary, a priori, analytic

(B) implication, consequence,
entitelment

(C) contingent, synthetic, a
posterion

(D} conjunction,

addition,

induction

(P v Q) is tautologically equivalent  695.

to all of the following except :
A) ~P .~ Q
B) ~(P=Q) . P]

C ~~P.~Q

M P> >Q

Philo.—III 26

A At QAL sul wis Yriod

2|7

(A) AR, 2w, WHlalRs

(B) fulle3un, sixsa-y, Adausean-2

(C) silFea%z, Rals, A WAk

(D) $%sud, vilBud, S-ssu-

(P v Q) 2leicimsfd syt sl Al
2{1?

Ay ~P.~Q

B) ~(P=Q . P

C) ~(~P.~-Q

D PoQ >Q



66. Which of the following formulae is

a tautology ?

A P>oQ=~P. ~Q

B)PvQ=P.Q
CyP=P>~P)

DY{P.Qv(-P.~-Qt={P>

Q) . Q> P)

67. If it is true “Maruti cars are fuel
efficient” and false that “Maruti cars
are sturdy véhicle”, then the
compound proposition that “It is not
the case that Maruti cars are not
fuel efficient but are not sturdy
vehicles” shall be :

(A) true

(B) false

(C) undetermined

(D) contradictory
Philo.—III
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66. 12 2l 5§ U 22idiw &7

67.

A P>5Q=-P.-~Q

B)PvQ=P.Q

C) P=P>~P

D) {P.Qv(~P. -.Q)} ={(P >
Q . (Q > P

“l wuslul sldail slud s2ua-1El

977 W ely, v Cugla susluil wsaa

AL 7" Wig X, dl ‘A el 3 iz

sufEdl sl elad el sadl, ust

usda Al U, g ¢i ud?

(A) g

(B) “iig

(Cy QF{l’ﬁw

D) @Al

[P.T.O.]



68.

69.

The paradoxes of material

implication are directly illustrated

in the formulae :

M po2q(~q>~p

(ID po@apl.[~p>p>Y)

HDlp o{(~qvpl.l~po(~p
v q)

IVp.q op

(A) (D, (D and aV)

(B) (II) and (IV)

(C) (ID, II) and (IV)

(D) (ID and (III)

Which of the following is the correct

definition of logic ?

(A) Logic is the science of
reasoning

(B) Logic is the science of laws of

o throught

(C) Logic is the study of methods
and principles used to
distinguish correct from

incorrect reasoning
(D) Logic is a study of the method

of writing

Philo.—III

28

68.

69.

WiRua Sullazaqnl @Qiueuy 59

YA Asd Yyl ®7

() (po>q)i{~q>~p)

(ID poqopl.I~p>ip>y

(IDlp>(~qvpl.[~P2(~pv
q)

IViip.q >op

(A) (I), (II) and (IV)

(B) (II) and (IV)

(C) (ID, (II1) and (IV)

(D) (II) and (III)

afuatl Wioy vy ¢§ §7?

(A) adurst did Rant ©

B) sl Qi Radig Qs 8

(C) s vl i Wit df a2l e
AnAadi FyHl wHd welii-i
weUY B

(D) afurst aud yglidi soqu ®



70. Match List I with List II and select

the correct answer by using the

codes given below :

List I
(Propositions)
(@) Universal
affirmative
(b) Universal
negative
{c}

Particular

affirmative

Particular

negative

Codes :

{a)
3)
(2)
(2)
(2)

(A)
(B)
(C)
(D
Philo.—1IT

(1)

(2)

(3)

(4)

(b)
(2)
3)
(4)
(3)

List 11

(Distribution

of Terms)
Distributes the
predicate only
Distributes the
subject only
Distributes both
predicate and
subject

Distributed neither

predicate nor
subject
(c) (d)
4 @
1) @
@ O
4) Q)

29

70. -l 200l 515+ (codes) il Guyia 5304

(a)

(b)

{c)

{d)

A I Al Yl I «idl wioy As

ot
TEN
(Al

ylrada

254 8q

y[Rade
SRIEL]

Wlsyaz

wEU[2q

Wlsyar

Fiall2q

8is

(A)

(B)

(C)

D)

(@)

(3}

(2)

2)

(2)

(1}

(2)

(3)

(4)

b)

2)

(3)

(4)

(3)

YAl 11
(ue-l adael
g5d A3l
adull
§5 Aoy serdl
SRETE(
R[E%e irl AnFs2
S RCRET ]
A AB32 e it

doysel adyel

) (d)
4) (1)
1) @
@) @
4y @

[P.T.O.]



71. Match List I with List IT and choose

the correct codes given below :

List 1 List 11
(@) The law of identity VDp=(p v p
() The law of 2)pop
contradiction
{¢) The law of excluded (3)p . ~ p
middle
(d) Tautology (4) p V ~p
Codes :
@ G @ @
A @ @ (3} (1}
B @ @ O @
€ @O @ @ O
M @ & @ O
72. Two categorical propositions with the

same subject and predicate terms

are said to be contraries if and only

if :

(A) Both of them cannot be false
together

(B) The truth of one of them implies
the falsity of the other

(C) Both of them can be false
together

(D) They must have opposite truth
value

Philo.-II1

71.

(a)
(b)

{c)
(d)

{12 2ue) 5151 (codes) i Guuial 5304
Y T Ayl 11 widl diou As
3\'lﬂlcfl :

s :

72.

YR I yA n
dl 2is vusdlad Mp=(pvp
dl s (2)p o p
si-2U8 59
dl s sA5ASS Asa (3)p . ~ p
2lelelio Hpv-p

(@ (&) (c) (d)

a @ @ @ W
By @ @) @ 4)
e O @ 3 @
D) @ @ ) (1)

Pl uoFs2 wA ASI2 uui 6, Aal

6 [Faayions @Qu-id $5d wA §5q @l

o szl sdaiu, wall

(A) ol dis A wial 4L &8 ud

(B) %R s vzl elg ol wig €ld
YR 5 B

(C) oln »ls WA uiel «id

(D) dudl gu dey RAaeudl €idl
RSN



73.

74.

75.

According to Leibnitz, reality is :
(A) Cannot be one, but many, each
being external and real

(B) Cannot be one, but many, each
is temporal and unreal

(C} Cannot be many but one but
is eternal and real

(D) Cannot be many, but one and
1s unreal and temporal
Which of the following statements
i1s not true of Gandhiji ?

{A) Non-violence must be adapted
(B) Means justify ends

(C) End justify means

(D) All land belongs to Gopal
Samskara Janyam Jnanam refers
to :

(A) Pratyaksha

(B) Anumana |

(C) Upamana

(D) Smriti
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73.

74.

75.

AL HAIgAR YA U g 897

(A) A uis -l el Ub, YR w5 8, NS
WrAd A AA B

(B) 35 1L el 23, 42 35 8, NS
s A AHAA B

(C) d 245 -l &l 33, W A5 9, d
AR A A B

(D) A s AL &l Uk, s s 6§, 214

A AU A &Ry ©
A lepi [?.mqnl oy dl?
(A) dildaAl dlsiR 54l A
(B) 2R vidq undd 53 &
(C) »id 2al yqdd 53 &
(D) A 42l sliwadl 8
AHL AUH_ S, vied
(A) Mcu&
(B) Aq1uA

(C) Guwir

D) =R

[P.T.0.]
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